ERABRE SBii R BESEG RS DBt EIE]

() fEE AR —Y

Haam|Hasm|FEaen|HEa Tm|FEasE|FE49m|FE5 0|5 1|55 20|55 3|55 410|555 510|555 61|55 71H|455 8|45 9|46 om| 6 1m|e6 2m|e6 3m|Fe am|Fe sm|FE6 6lml|FEe 7|F6 skl|g6 o7 ol|E7 1|57 20|57 3m| 4 74m|57 sl emla 7| 4B

No.| #ifiHIAR4 my | @) | ms) | ma) | ws) | @me) | ) | ms) | o) | mio | @in | i [ @mis | @i | mis) | @i | min | ;s | ;e [ mzo) | ;izn | 22 | ;izs) | mza) [ tizs) | ;ize) [ mizn) | ;ize) | mze) | mso | (R | (R2) | (R3) | (R4) | (R5)
deitmiE| @i | A | LB | RUE| R | R | RS | ORER RN AEAR | R | ek | s | dRi | B | RA | FeE | BKE [ RSy | s | TEE | Wl | ER | O | Rl [FEil] AT | B | mIF | R PERE| =8 | iR | BIRE
1|k Btk 19 65 38]41. 33 49 84| 129 104 56 60 52 75 81 57 66[ 63.5 81 68 66 bh 32 56 b1 42 42 54| 61.5 46 39 301 42.5 b3| 25.75
2| dk AP ER 0 0 5 55 15 45 60 30 0 0 25 35 35 0 24 8 0 0 0 0 0 0 0 0 0 0 16 0 0 0 0 8 0
|1V 7 R T =X 0 20 0 0 0 30 70 0 5 0 0 0 15 0 0 5 0 0 0 0 0 0 0 0 0 0 30 35 30 20 25| % B 5 0
47 == 0 0 0 30 0 20( 105 70 25 20 35 25 0 30 33 24 45 24 0 0 0 0 0 0 0 0 0 0 9 0 o] & ?33 0 0
51% > 1 — 0 0 0 0 0 20| 57.5 3b| 12.5 0 0 12.5 0 0 0 0 0 20 0 20 20 0 20 40 40 0 0 0 20 0 2 ::'1: 0 0
6|/ > RAR—/1 0 0 25 0 12.5 25 165| 12.5[ 12.5| 12.5 0 0 0 0 0 0 12.5 0 0 12.5 0 0 0 0 0 0 0 25 0 0 0 + Iz 0 0
7| K 0 0 12.5 O 12.5 128 37.5| 12.5| 12.5| 12.5 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 of v 7 0 0
8|HillE 0 0 42.5 40 0 3b| 110| 42.5 0 0 12.5 0 0 0 0 0 0 0 0 0l 12.5| 7.5] 12.5 0 12.5 0 0l 7.5 0 0 of 1 Z 0 0
9fr—rr27 (F—1) 0 0 0 0 0| 22.5( 145 10 5] 2.5 5 0 5 10 1 41 0 5 16 46 22 1 0 3| 5.5 0 1 0 0 241 12.5 }/,I: L 7 17
10|17k ¥k 12 6 0 15 16 38| 147 43.5 39 40 31 23| 23.5 18 38 41 41 35 44( 48.5( 44.5 27 32 26 51 8 22 9 8 4 2| & A 1 16
11| H A H 27 20 16 10 7 44 63 44 48 33 25 20 30 27 48 62 62 48 69 45 54 26 30 11 31 27 11 37 33 29 54| Y- }’f;% 53 65
12[R v r— 0 0 0 0 0 301 120 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 20 0 0 0 E E 0 0
13| FEEE 0 0 0 0 25| 12.5( 42.5 0 0 0 0 0 0 0 0 0 0 of 7.5 0 0 0 0 0 0 O 7.5 7.5 0 0 0 jé E'IN 0 0
14| F A 7 V58 5 0 7 0 14 28 39 17 5 13 2 4 0 1 6 4 6 0 0 4 1 4 0 0 0 0 0 7 0 0 ol 1z j} 3 3
15(/N A7 hAR— 0 0 0 0 0 12.5( 123 0 0 0 0 0 12.5 0 0 0 0 0 0 0 0 0 12.5 0 0 0 0 12.5 25 0 of & S:_ 0] 12.5
16N I b 0 0 0 0 0 0 128 12.5 0 0 0 25 0 0 0 0 0 0 0 15 0 21 24 21 30 421 70. 5 48 21 0 15 3% ) 31.5 18
17|\ Ro > 0 0 0 5 20 8| 45.5 0l 5.5 0 2.5] 10.5] 10.5| 20.5 2b] 156.5 3b| 42.5] 7.5 8l 23.5 18| 10. 5 of 7.5 17 2.5 0 5.5 2.5 5 i 9"5 0 5.5
18|FiE 0 0| 12.5 0 0 60| 100f 12.5 0 0 0 12.5 0 0 0| 12.5 0 0 0 25 0 0 25 0 0 0 0 0 0 0 of 72 77}!13 0 0
19|78 30 0 0 40 15 40[ 87.5 45 57.5 3b| 47.5 40 72. 5 0 24 48 39 42 21 0 21 0 6 0 0 0 0 0 24 0 3] L 5 15 39
2017 7 e — 0 0 0 0 0 0 35 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
21| 0 0 0 0 0 15 210 0 0 5 0 0 0 0 25 10 0 0 0 0 0 0 0 0 0 0 0 0 0 0 4 1 1
22| A % — 11 3 14 9 42 53 86[ 37.5 31 28 27 6 17 3 18 9 12 3 17 5) 13 9 15 4 of 7.5 6 10.5 3 5) 11 13 0 6.5
23| A% — b 0 0 0 0 7 25| 66.5 20 16 10 5 10 8 7 12 12 10 13 7 6 6 4 3 10 13 16 13 11 23 16 16 10w ik 3 5
24| R Tk 22 15 13| 26. 5| 30.5| 44. 5 123 21 37 16 20 22 16 18 15 16 23 18 29 7 1 11 16 16 11 27 21 29 27 20 6 0 3
25| 7 R —v 0 3b| 12.5] 12.5 40( 47. 5| 150| 27.5 25 25 12.5 0 2.5 0 0 0 40 20 40 36 20 36 0 44 44 40 20 20 20 20 20 20 0
26|83 L —R—)L 7.5 0 0 ol 17.5 0l 225| 17.5 301 37.5( 7.5 0| 17.5( 47.5 0 0 0 0 0 0l 17.5 0 0 0 0 0 0l 7.5 0 10.5] 10.5 15 7.5
27|\v=A bV 7T 4 17 35 29 35 66 52 69 33 40 48 33 17 14 20 44 44 52 22 52 49 34 20 32 31 53 46 66 45 45 18 59 86 64
28| LAY T 20.5] 10.5 25 24 45 62| 97. 5| 34.5| 38.5 36| 20.5 16 32 31| 23.5 22 16 13| 33. 5[ 15. 5| 12. 5[ 25.5| 7.5 28 16 19.5 211 10.5( 13.5| 13.5 5) 7.5 13
9|7 =T 0 0 0 0 0 65| 77.5 40 10 10 25 55 75 0 0 3 30 12 18 12 3 12 0 0 0 3 6 12 0 3 15 0 0
Rl e e 25 35 0 40 70| 118 160 113]| 47.5| b2.5| 62.5 3b| 118 35 33 21 12 21 0 0 0 0 0 0 0 0 0 3 0 9 33 0 3
31|BidiE 0 0 0 5) 0 45 70 35 25 25 20 bh 0 25 0 6 24 12 0 0 0 0 0 0 0 0 24 0 6 0 0 3 0

32| 7 L — 0 20 5 30 40 30 20 0 40| R FE it 0 0 0 0 0 0 24 0 0 0 0 0 0 12 0 0 0 0 0 0 0

BleE—V 7 0 0 0 0 0 25| 31. 3| 27.5 10 12.5 0 0| 22.5 0 5 0 0 4 5 0 2 0 2 0 0 0 0 0 0 0 0 0 5
34| FiE 7.5 0 0 bl 2.5 21.5| 63.5| 10.5 1 1| 3.5 0 0 0f 2.5 0 0 of 7.5 11] 2.5 2.5 0 5) of 7.5 0 2.5 of 2.5 0 5) 0
BT —F =V — 0 0 25 0 0 70 60 10 30 15 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
36|72 E T 0 0 0 2.5 2.5 25| 115 10 0 25| 27.5( 27.5 25 0 9 0 0 3 24 6 0 3 21 3 0 6 15 0 0 0 0 12 6
JNTA ARy r— 0 0 0 0 0 0 30 0 20 0 15 0 12.5 0 0 0 0 0 0 0 0 0 0 0 0 5) 0 0 0 0 0 Okt 0 0
AR Y T 0 0 0 1 6 24 20 14 14 16 14 7 15( 16.5 37 38 21 51 23 19 0 0 15 3 27 6 27 30 22 0 0 0 6
39|27 30 0 0 0 0 0 0 0 9 0 0 0 0 0 0 16.5 0 0 3 0 0 0 0
40 X — 0 0 0 5 38| 130 178 96 59 71 85 82 58 44 65 88 31 44 17 33 46 12 12 6 33 35 25 8 2 6 37 4 7
41| b TAT A v 0 1 8 0 0
= 71| 203.5] 264.5 282( 431. 8| 580.5| 1419 3751| 1063| 757.5 662 658 615| 767.5| 410.5 554 593. 5| 616. 5| 500.5 533| 458. 5 388 315.5 327 243| 416.5 423 466| 443.5 359 2541 383. 5 333] 328.75

KEMINANL| 440L | 45AL | 410L | SILL | 200L | 4hr | AL | 9L | 1602 | 1602 | 18AL | 190L | 1743L | 33AL | 230L | 2143L | 2147 | 2647 | 243L | 31AL | 350L | 43iL | 40AL | 430L | 350 | 34HL | 3IAL | 3L | 4147 | 4447 | 391 41437 | 4241




